OrM ZX| 2 SRl X3
A AE!
== Moy/HZ o|0|X|

© HEINRICH KIPP WERK GmbH & Co. KG

ks

THE!:

AEQIHA AE]
EZglot0lE & .
= s =223 TPE.

EM OS2
Atedd obF 2.
12| AL TFEFAH Z4RIAY L wh7hAd

HH.
MH|7t 2 g
WHLLES M X

AMIM2]:
K0106
K0384
K0390
K0392
K0667

=MW MY

1) 2AEH E 2[x| 1
2) AETH El 9|X[ 2

www.kipp.com - info@kipp.com

1/3



&5 89/HMF ololx|

RAL 7021 RAL 5002  RAL 3020
A = 0 A = 1 A = 3

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



[ ]
o Xix| 22 22Hix A XIS A XIHE S| Felil A= A
OHM x| 2 SUE 2] AW, =M U ATIS, 2H|Q
E-“A AEIl
—_——
=M
I ®
i @/ji
= A3 sT
]
A2
A
| B1
~L1 Al Bl
SEE =) |
~L
= g9
OFF FX| 2 SUE $XIH S, Y UL ATIE, AHQIHA A
TEHS TEE MY E ezl ElRIxl2 AEH QIS E Lz EfIxl2 £ & 2T 2T TP ZAEH
Zcloto] ggigto] sEetel Jglel Jglol FH O F1 F2 F3 F4
N A WP ZE W7 Z T ZE IHFZE N N N N N
K0663.106101 A RAL 5002 56° 83° 141° 46° 56° 160 1350 1650 920 1050
K0663.108101 =M RAL 5002 13° 93° 158° 26° 61° 190 2000 2800 940 1350
K0663.106100 3| RAL 7021 56° 83° 141° 46° 56° 160 1350 1650 920 1050
K0663.108100 A3|A RAL 7021 13° 93° 158° 26° 61° 190 2000 2800 940 1350
K0663.106103 4I5S Wz RAL 3020 56° 83° 141° 46° 56° 160 1350 1650 920 1050
K0663.108103 4I5S Wz RAL 3020 13° 93° 158° 26° 61° 190 2000 2800 940 1350
FEHS THE My PSS M A AMMA2A3 B B1 B2 B3 B6 C C2 D H L L1
ok
K0663.106101 =EM RAL 5002 3 M6x35 14 29 7 12 10,2 52 17,5 12,5 53,4 37,6 55 55 1757 86,5 53
K0663.108101 A RAL 5002 3 M8x45 21 39 9 19 10,2 5,2 20,6 156 51,1 49 6,5 6,8 207,6 107 62
K0663.106100 A3s|M RAL 7021 3 M6x35 14 29 7 12 10,2 52 17,5 12,5 53,4 37,6 55 55 1757 86,5 53
K0663.108100 A3|M RAL 7021 3 M8x45 21 39 9 19 10,2 5,2 20,6 156 51,1 49 6,5 6,8 207,6 107 62
K0663.106103 A3 S ¥WZ RAL 3020 3 M6x35 14 29 7 12 10,2 5,2 17,5 12,5 53,4 37,6 55 55 175,7 86,5 53
K0663.108103 A= S Wz RAL 3020 3 M8x45 21 39 9 19 10,2 52 20,6 156 51,1 49 6,5 6,8 207,6 107 62
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



